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Тема: «Условные предложения третьего типа»

Цели: - ознакомить учащихся с условными предложениями третьего типа , их значением

            и структурой, и учить образовывать такие предложения;

          - отработать правила образования условных предложений третьего типа;

          - тренировать в образовании и употреблении предложений третьего типа;
          - практиковать учащихся в чтении, аудировании, говорении и письме;
          - способствовать развитию памяти, внимания, языковой догадки, креативного

             мышления;

          - учить использовать свои возможности с пользой.
Оборудование: таблица, карточки с предложениями, ситуативные картинки
Ход урока

1.Организационный момент. 

1. Приветствие

T: Good morning, children. Nice to meet you at our English lesson today.  You will learn a grammar structure called “The third Conditional”. This structure will give you an opportunity to speak about impossible events in past.  By the end of the lesson you will be able to use the third conditional.
2. Речевая зарядка

T: Remember three forms of the following irregular verbs: to  go, to write, to make, to draw, to learn, to take, to break, to see, to know, to tell, to understand, to buy, to bring, to do.
      3.  Now answer my questions:

T: How many parts do conditional sentences have?

P: They have two parts: the if-clause and the main clause.

T:  How many types of conditionals do you know?

P: We know two types of conditionals: type 1 – true in the present, type 2 – untrue in the present 

T: Make examples of these two types of conditionals.

P1: If I were a bird, I could fly. It is the second conditional.

P2: If you post the invitations today, they will arrive in time. It is first conditional.
        4.  Match a line in part A with a line in part B
	A
	B

	1. If I had 5 million pounds,
2. If you are going to the post office,

3. If I see Anna,

4. If you want to do well in life,

5. If you don’t feel well,
	a) I’ll tell her the news.

b) I’d give up my job and travel around the world.
c) you have to work hard.

d) go to bed and rest.

e) could you post this letter for me?


   Keys: 1b, 2e, 3a, 4c, 5d.   

П. Presentation.

T: Today I shall explain the third conditional to you.  But  at first listen to my story.
 I had a very frustrating day yesterday. Look at the blackboard and guess what I wanted to do yesterday and if I was succeed :

   Make a cake/ no eggs       I should have made a cake if I had had some eggs.

   Shower/ cold water           I should have had a hot shower if the water hadn’t been cold.
T: What did I want to do yesterday?

P 1: You wanted to make a cake./ You wanted to have a shower
T: Was I able to?

P 2: No.

T: Why not?

P 3: Because you didn’t have any eggs/ Because the water was cold.
T: What should I have done if I had had some eggs? I should have made a cake if I had had some eggs./ What should I have done if I the water hadn’t  been cold? I should have had a shower.
     Am I talking about the past, present or future?

P: About the past.

T: Is it possible to change the past?

P: No.

T: Look at the sentences written on the blackboard and practice them.
T: So you see: in the “Condition Clause” we have the Past Perfect Tense. In the Principal Clause we have “would” or “should” with “have” and Past Participle.

	WOULD 

SHOULD

HAVE
	+ PAST PARTICIPLE
	+ IF + PAST PERFECT

	I should have
	made a cake
	if I had had some eggs

	I should have
	had a shower
	if the water hadn't been cold


T: Let’s practise on more sentence: If the doctor hadn’t operated, Jack would have died. (Чтение и перевод предложения).
T: And now answer some questions: 1) how is the third conditional formed?

P: If + Past Perfect + would have + Past Participle
T: Did the doctor operate?

P: Yes, he did.

T: Did Jack die?

P: No, he didn’t.

T: Do all the actions happen in the past?

P: Yes, they do.

T: Is the situation above real or unreal?

P: It is unreal.

· Pronunciation drill. Read the sentences and translate them into Russian.

If I had had a ticket yesterday, I should have gone to the theatre with you.

If she had asked me yesterday, I should have told her all about it.

If you hadn’t missed the train, you would have arrived in time.

I should have done the work well if I had asked you to help.

      If you had let me know yesterday, I should have brought you my book.

Ш. Practice.
1. Complete these sentences:

   1. If you had phoned me yesterday, I   (not to come).

   2. If he had entered the University four years ago, he (to graduate).

   3. He wouldn’t have gone to hospital if he (not to break) his leg.

   4. I wouldn’t have broken my leg if I (not to slip) on the stairs.

   5. If you had gone there, you (to see) him.

   6. If she had never been here before, she (not to know) the way.

   7. She wouldn’t have missed so many lessons, if she (not to be ill).
   8. John would have taken part in that competition, if they (to tell) him about it.

   9. If I had won the lottery recently, I (to buy) that car.

  10. If I hadn’t decided to learn English, I (not to do) my homework.

2. Match a line in part A with a line in part B and a sentence in C.

	A
	B
	C

	1. If Tony had called,

2. If you had finished your work,

3. If I had not been back by 8 o’clock,

4. If you had had flu,

5. If you  had ever been to London,

6. If you had gone to Great Britain,

7. I should have  bought a computer,

8. If I had had more time,
	a) you wouldn’t have waited  for me.
b) you should have had a visa.

c) if I should have had money. 
d) you should have told him everything.

e) you should have taken a break.

f) you should have gone to bed.

g) I should have taken an evening class.

h) I should have seen all the sights.
	a) It would have been really useful for work.
b) He would have helped me.

c) You should have had to keep warm and drunk plenty of fluids.
d) I should have shown you around.

e)But  you should have been back in 15 minutes.
f) I should have learnt more about photography.

g) You should have got one at the embassy.

h) You should have gone without me and I should have met you at the party.


Keys: 1d,b; 2e,e; 3a,h; 4f,c; 5b,g; 6h,d; 7c,a; 8g,a.
3. Look at the statements below and choose what you would have done if you had won a lot of money.

- you would have given up your job;

- you would have bought a new house;

- you wouldn’t have told anyone;

- you would have given money to everyone who asked for it;

- you would have gone on a spending spree;

- you would have given lots of it away.
P1: If I had won a lot of money, I should have given up my job.

P2: If I had won a lot of money, I should have bought a new house (etc.)

4. Divide yourself into 3 groups and ask each group your  situation. They have to answer as in the model and show the unreal situation.
Model: If I had had a lot of money, I should have traveled around the world. ( But unfortunately, I didn’t have a lot of money)

Gr.1: If I hadn’t had problems with the language, I should have gone to England. (But unfortunately,…)
Gr.2: If I hadn’t fallen ill in February, I shouldn’t have had problems with my lessons. (But unfortunately,…)

Gr.3: If I had run out of money, I should have bought  gloves. (But unfortunately,…)
5. Reading.
T: Here are five people who regret things they did or didn’t do. Read their stories and make sentences about them, using the following phrase: Perhaps if …

1. Steve is 75. He has never been married. He never had any children. Steve worked too much trying to achieve success in his career. Now he is retired and he lives in a residential home. Nobody ever comes to visit him. He spends a lot of time thinking about his life.

P 1: Perhaps if he had been married he would have had children and he wouldn’t have been alone.
P. 2: Perhaps if  Steve hadn’t tried to achieve success in his career, he would have been married.
P. 3: Perhaps if Steve had been married he would be busy with bringing up his grandchildren.

2. Julia is 30. At the age of 16 she had her shoulder tattooed because some of her friends had tattoos and her boyfriend really liked it. Her life has changed greatly and now she regrets getting the tattoo. She understands she should have thought more about it. She can’t get rid of it because it’s painful and expensive.

P. 4: Perhaps if she had been cleverer, she wouldn’t have done the tattoo.

P.5: Perhaps if she had had money, she would have got rid of the tattoo.

3. Jane is 41. She is divorced and very lonely. Her husband left her two years ago but anyway they never were happy together. She often remembers the Italian man whom she met when she was 20 while being on holiday. He proposed to her but her parents were horrified and made her marry another man.

P.6: Perhaps if Jane hadn’t married another man she would be happy with that Italian man now.

P.7: Perhaps if Jane hadn’t married another man she would be married her Italian man.

4. Bob is 12. He has got nobody to play with because he quarreled with his best friend two days ago. Bob refused to lend his friend his new computer game. That’s why his friend refuses to speak to him.
P.8: Perhaps if Bob had given his computer game to the friend, his mate wouldn’t have refused to speak to him.

P.9: Perhaps if Bob’s friend hadn’t asked a new computer game, his mate wouldn’t have refused to speak to him.

P.10: Perhaps if Bob had given his computer game to the friend, he wouldn’t have quarreled with his best friend.

P.1: Perhaps if Bob hadn’t been greedy he would have given his computer game to the friend.

P.2: Perhaps if Bob hadn’t quarreled with his best friend, he would have had somebody to play with.

5. Charles is 37. He left school when he was 16. He is working as a manager for a big company. He has been working for the company for 12 years but he has never been promoted and given a pay-rise. He is sorry he never got university education.

P.3: Perhaps if Charles had got university education, he would have been promoted and given a pay-rise.

P.4: Perhaps if  he had got a university education, he wouldn’t have worked as a manager.
P.5: Perhaps if he had continued his education when he was 16, he would have got a better job.

6. A Game.

T: Here are some unfinished sentences. Complete them in any way you like and write the completed sentences. Don’t let the student next to you see what you are writing.
Now fold up your sentences, put them into the box. 

Then the teacher takes one piece of paper from the box and reads the sentence out:

If I hadn’t come here today , I should  have stayed  in bed.

The students  ask questions in order to find out the person wrote the sentence.

P: If you hadn’t come here today , would you have stayed  in bed?

P: Where would you have stayed if you hadn’t come here today?

Examples of the unfinished sentences:

If I hadn’t come here today…

If I had found 100 dollars on my way here today, I would have…

If I had gone to the party last night, I would have worn…

If I had followed my parents’ advice, I would have…
IV. Listening and speaking.

1. T.: Listen to a short story and then  work in pairs and blame each other for what went wrong.

(Listening)
When Jim and Jane went on holiday it was a complete disaster. They woke up late. They ran out of petrol on the motorway. They missed their plane. Their luggage got lost. On holiday Jane got sun burnt. All their money was stolen. When they got home the goldfish had died and the house had been burgled.
Work in pairs and blame each other for what went wrong.

T: imagine you are Jane. You think everything is Jim’s fault because Jim :

· forgot to set the alarm clock, (P.1: If you hadn’t forgotten to set the alarm clock, we shouldn’t have missed our plane)
·  didn’t tie labels on the luggage securely,(P.2:  If you had tied labels on the luggage, we shouldn’t have lost our luggage)
· didn’t pack the sun cream,(P.3:  If you had packed the sun cream, I shouldn’t have got sun burnt)
· left a small window in your house open.(P.4:If you hadn’t left the window open,  our house wouldn’t have been burgled)
T: imagine you are Jim. You think everything is Jane’s fault because Jane :

· forgot to fill the car with petrol,(P.5: If you hadn’t forgotten to fill the car with petrol, we shouldn’t have missed the plane)
· insisted that cash would be better than traveller’s cheques,( P.6: If you hadn’t insisted that cash would be better than traveller’s cheques, our money wouldn’t have been stolen)
· forgot to ask a neighbour to feed the goldfish every day.(P.7: If you hadn’t forgotten to ask our neighbour to feed the goldfish every day, it wouldn’t have died.) 

2.  Writing.

T.: Divide yourselves  into 2 groups. I’ll  give each group one of the prompts below. 

You have to invent a chain of events that led to the situation

Model: A man is lying in hospital with a broken leg. (If he hadn’t got up late, he wouldn’t have been in a rush. If he hadn’t been in a rush, he would have looked before he crossed the road…)
· A child is standing in the garden covered with green paint.

Gr.1: If the child had gone to the kindergarten, he wouldn’t have stayed at home alone. If he hadn’t stayed at home alone, he wouldn’t have gone to the garden. If the child hadn’t gone to the garden he wouldn’t have dropped the bucket with green paint.
· A woman is standing outside her house unable to get in.
Gr.2: If she hadn’t got up late, she wouldn’t have been in a rush. If the woman hadn’t been in a rush, she wouldn’t have forgotten the keys. If the woman hadn’t forgotten the keys, she wouldn’t have stayed outside her house unable to get in.
The students read out their chain of events to the whole class. 
3. Develop the idea.

T.: The last task for you is to look at the given pictures and make up your own statements to them using the 3d Conditional.

Model:
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[image: image2.jpg]



[image: image3.jpg]



Group 2:
Group 3:
[image: image4.jpg]



V. Conclusion. Your work is splendid. Thank you very much for it. 
 Homework. Make up 5 sentences of your own using the 3rd Conditional.

